% In the wuizi:p«gw.&; case{*¢) with AABC as shown here,we qiw‘;..js g lewlafe
LG First. 2f we findt an acute value of B, i+ doesn't necessariiy mean that
an obtwie value. of B exists for that friangle. In other words, o fter fny;
the acute value of B, we must see if the shiuse valne. € of B 1 ok .-
8.  Each refers to triangle ABC, which is not necessarily a right - makes
triangle. Each of these is of the Angle-Side-Side variety so the Yhe A wor -
ambiguous case applies. From the given information, find all A B
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K & y Use this incomplete triangle

as the model for your work.
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find all possible measures of B. find all possible measures of B.
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9. The two congruent sides of an isosceles triangle are each 38 centimeters long. If the base is 48

centimeters long, what is the measure of each base angle? @ 8 A=A JE
A k}4 38 e oy
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T 2(438)(38) measures 50.8°,
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A woman standing near a building measures the angle
of elevation to the top of the building to be 64°. She
then walks 240 feet farther away from the building and
measures the angle of elevation to the top of the
building to be 43°. How tall is the building? :
(Round to the nearest foot.) A 430 7 EMO/ e D
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11. The diagonals of a parallelogram measure 26 inches (AC)
and 39 inches (BD). If they meet at an angle of 112°, what is
the length of the shorter side of the parallelogram?
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